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For  the  circuit shown, 
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IF the voltage source supplies  2400 W  and  power factor of  0.2  leading.
Find the current  
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To find   we proceede as follows:

Volatege Source Complex power

PjQ

θ = (1200)

θ =cos(0.2)78.46

 = 

-

ÐÐ

-

-

Ð

-=-

-

===Ð

Ð

=+Ð

Solution

III

I

I 

 supplied 

*

 SSI

=



[image: image4.wmf]S

SSS

o

SS

o

S

o

S

o

S

  

P

2400

since  Pcos(

θ) 12000  VA

0.2

cos(

θ)

 

Qsin(

θ)12000sin(78.46)11758  VAR

 

2400j117581200078.46  VA

since  (1200) 

o

1200078.46

= 10078.46

oo

12001200

==

 = 

Þ=

=-=-

+-

Ð

Ð-

Þ==Ð-

ÐÐ

=

=

Þ=Ð

=

SS

pf

S

S

*

SI

S

*

I

123

o

  

ooo

SL

  

A (rms)

10078.46A (rms)

1236.8710078.46105.795.64A (rms)

ÞÐ

-Ð=Ð-

-Ð-

I=

III=

=


_1274067389.vsd
+


-



_1274069586.unknown

_1274069639.unknown

_1273440672.unknown

